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(lal +161)2 ~ (la + b2

= lal® + |b* + 2lallb| — (a + b)*

= a® + b? + 2lab| — a®> - 2ab — b?
= 2(|labl —ab) 0

. lal + 16)® = (la + b])?

~al + bl = la + b

@ la|>a
@azb,bzcoﬁﬂazc
® |af? = a2

@ a-b20°Haxb

® az0,b>0,a*=2b2°Hax=b
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(lal + 1b1)? = (la + bl)?

= lal* + bI* + 2lalib] - (a + b)? (®°] 2¢])
= a? + b% + 2|ab| — a® — 2ab — b?

= 2(|ab| — ab) > 0 (D°] 2 )

< (lal + 1b1)? = (la + b])? (@7} 29)

Zlal + 16l > la + bl (B7F 290)
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a, b=4Fold g+ b=19E2
0<a<1l,0<b<1
Ebh=1-a0B=
P=a+b=a*+(1-a)
=a’+1-3a+3a®-a3
=3a’-3a+1
Q=a’+b*>=a’+(1-a)?
=a’+a®>-2a+1
=242 -2a+1
P-0=3a>-3a+1-2d>+2a-1
=a’-a=ala-1)
J8dl0<a< 19822 ala-1) <0
LP-0<0°1P<Q
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1, ~a+ Vb, Vb-+a, Vb-a

® Vb-va<Vb-a @ Vb- va< va+ Vb
(@)«/ﬁ+«/§<1 @® Vb-a<1

® Vb-a< \a+ Vb
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(i) (vVa+ Vb)2-12 =a+2Vab+b-1
=2vab >0
(Va+ vb)* > 1
oANa+ Vb>1
(i) 12~ (Vb-a)®? =1-b+a
=(a+b)-b+a
=2a>0
L 1>vVb—-a
(iii) (Vb —a)® - (Vb~ va)®
=b-a-(b-2Vab+a)
=2+ab - 2a
=2va(Vb~ a)>0
s Vb—a>Vb-+a

(1),(ii),(ii)NA va+ Vb>1> Vb—a> Vb- a
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7 = (45— (4% +ay+5b) <0
A5t (20 - a)y+25-5b<0---O
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20-a=0, 5b-25>0
a=20,b25
L a+b>25




